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QUESTION 1

Which two policies would allow an administrator to configure disaster recovery and archiving in the same destination
volume? (Choosetwo.) 

A. MirrorAllSnapshots 

B. MirrorAndVault 

C. Unified7year 

D. MirrorLatest 

Correct Answer: BC 

 

QUESTION 2

Click the Exhibit button. 

You have a SnapProtect v11 environment as shown in the exhibit. What are the two defaultSnapshot copies created
automatically after creating a Storage Policy. 

(Choose two.) 

A. Primary (Tape) 

B. Primary (Classic) 

C. Primary (NetApp) 
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D. primary (Snap) 

Correct Answer: BD 

 

QUESTION 3

An administrator notices that a NAS volume has been filled completely by active data and Snapshot copies that have
expanded over the Snap reserve. The volume is no longer writable. 

In this scenario, which two actions must you take to make the volume writable again? (Choose two.) 

A. Delete Snapshot copies until space is available. 

B. Delete the files in the active file system. 

C. Delete the SnapMirror relationships. 

D. Delete the SnapVault relationships. 

Correct Answer: AD 

 

QUESTION 4

Your customer wants to implement a SnapVaultrelationship, but is concerned that the initial transfer will use up all of
their network bandwidth. Which solution should you recommend to the customer? 

A. Use the SMTape functionality to back up the source volume to tape and use the tape to transfer the base snapshot
copy to the destination volume. 

B. Set up a SyncMirror relationship to a NetApp controller in the same data center, than ship the controller to the
destination site. 

C. Manually copy each directory from the source volume to the destination volume during times when the network
utilization is low. 

D. Enable volumeefficiency on the destination volume. 

Correct Answer: A 

 

QUESTION 5

A customer needs to report on the SnapMirror and SnapVault relationships in their cluster. Which two tools provide this
information? 

(Choose two.) 

A. OnCommand Unified Manager 

B. Config Advisor 

C. OnCommand System Manager 
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D. OnCommand Insight 

Correct Answer: AC 
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